
qm=; += jf8{ g+= of]hgf tyf sfo{qmdx?  g=kf=af6 nfut;xeflutf s'n hDd
2 ! b]vL !) hu]8f sf]if jf6 kSsL ; tx 9n lgdf0f{, sne6{, ; 8s 9nfg 30,000,000.00 5000000.00 35,000,000.00

3 ! b]vL !) ; 8s af]8{ g=kf= sf] lg0f{o cg'; f/ 3,000,000.00 900000.00 3,900,000.00
4 Doflr+u kmG* -;dk'/s sf]if_ 845,000.00 0.00 845,000.00

33,845,000.00 5900000.00 39,745,000.00
5 :jLk/x?sf] tnj 3,201,000.00 0.00 3,201,000.00
6 jf?)foGqsf] sd{rf/L tnj eQf 3,113,098.29 0.00 3,113,098.29

7 ljB't ldl:qx? tnj eQf 1,500,000.00 0.00 1,500,000.00

8 ; /; kmfO{ tkm{sf rfnsx?sf] tnj eQf 1,500,000.00 0.00 1,500,000.00

9,314,098.29 0.00 9,314,098.29

qm=; += jf8{ g+= of]hgf tyf sfo{qmdx?  g=kf=af6 hg;xeflutf s'n hDd
1 1 Jo'̂ L kfn{/ tflnd 10 hgf nfO{ 65,000.00 0.00 65,000.00
2 2 l;nfO{ d]lzg 5 yfg v/Lb ug]{ / l;nfO{ s^fO{ tflnd 65,000.00 0.00 65,000.00
3 3 d}gjlQ tflnd 30 hgf nfO{ 65,000.00 0.00 65,000.00
4 4 Jo'̂ L kfn{/ tflnd 20 hgf nfO{ 65,000.00 0.00 65,000.00
5 5 l;nfO{ d]lzg 6 yfg v/Lb ug]{ gf=;=s]=df 65,000.00 0.00 65,000.00
6 6 l;nfO{ s^fO{ tflnd 10 hgf nfO{ 65,000.00 0.00 65,000.00
7 7 l;nfO{ dlzg vl/b 6 yfg 65,000.00 0.00 65,000.00
8 8 kfk*,bfndf]&,u'nb:tf / u'l*of jgfpg] tflnd 65,000.00 0.00 65,000.00
9 9 k]lG^u tflnd ?= 35,000. / u'*Lof,u'nb:tf jgfpg] tflnd ? 30,000. 65,000.00 0.00 65,000.00
10 10 jfF ;sf] dlrof jgfpg] tflnd 65,000.00 0.00 65,000.00
11 11 l;nfO{ dlzg vl/b 5 yfg 65,000.00 0.00 65,000.00
12 12 l;nfO{ s^fO{ tflnd 65,000.00 0.00 65,000.00
13 13 cu/jlQ,d}gjlQ,bfndf]&,kfk* jgfpg] tflnd . 65,000.00 0.00 65,000.00

845,000.00 0.00 845,000.00
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qm=; += jf8{ g+= of]hgf tyf sfo{qmdx?  g=kf=af6 hg;xeflutf s'n hDd
1 1 k|f=lj=sf] 2 sf]&f e'+O{ (nfg 65,000.00 0.00 65,000.00

2 2
v]ns'b ;fdfu|L , ?=20,000. jfnSnjdf,sDKo'̂ / tflnd 15 hgfnfO{ 30,000. s';L{ 
^]jn b/fh vl/b 15,000. 65,000.00 0.00 65,000.00

3 3 jfnk':tsfno,db/;f ?= 32,500. / k|f=lj=df ?= 32,500. 65,000.00 0.00 65,000.00
4 4 v]ns'b ;fdfu|L , ?=20,000. jfnSnjdf,b/fh vl/b 45,000. 65,000.00 0.00 65,000.00
5 5 k|f=lj=df v]ns'b ;fdflu| tyf 1 yfg x})* kfO{k 65,000.00 0.00 65,000.00
6 6 v]ns'b ;fdflu| 15,000. c +u|hL sf]lr+u Snf; ?=50,000. 65,000.00 0.00 65,000.00
7 7 v]ns'b ;fdfu|L ?=20,000. sDKo'̂ / tflnd 15 hgf nfO{ 45,000. 65,000.00 0.00 65,000.00
8 8 jfnk':tsfno,b/fh ;lxt . 65,000.00 0.00 65,000.00
9 9 sDKo'̂ / tflnd 20 hgf nfO{ jfnSnj / db/;fdf 65,000.00 0.00 65,000.00

10 10 b/fh 1 yfg,?= 15,000. v]ns'b ;fdfu|L 15,000. s';L{ 10 yfg 5,000. ;/;kmfO{ 
tflnd 20,000. ^]j'n 10,000.

65,000.00 0.00 65,000.00

11 11 db/;f / ljBfnodf k(g] 5 sIffsf] ljBfyL{ nfO{ emf ]nf ljt/)f . 65,000.00 0.00 65,000.00
12 12 jfnSnj dfkm{t v]ns'b ;fdflu| vl/b u/L ljt/)f . 65,000.00 0.00 65,000.00
13 13 l|ss]̂  v]ns'b ;fdflu|| vl/b 65,000.00 0.00 65,000.00

845,000.00 0.00 845,000.00

qm=;+= jf8{ g+= of]hgf tyf sfo{qmdx?  g=kf=af6 hg;xeflutf s'n hDdf
1 1 dxf/fgL :yfgdf wd{zfnf lgdf{)f { ?= 87,500. hgr]tgf d"ns ;/;kmfO{ 10,000. 97,500.00 0.00 97,500.00

2 2
em)*f jhf/df /x]sf ] wd{zfnf e'O{ (nfg ?= 82,500. gf=;=s]df s';l{ ^]jn / 
b/fh ?=15,000. 97,500.00 0.00 97,500.00

3 3 sDKo'̂ / tflnd 32 hgf nfO{ 97,500.00 0.00 97,500.00
4 4 sDjn ljt/)f 75 hgf h]i&gful/s nfO 97,500.00 0.00 97,500.00
5 5 sDjn ljt/)f 50 hgf nfO-h]i&gful/s / ckf+u_ 97,500.00 0.00 97,500.00
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6 6 sDjn ljt/)f 32 hgf nfO{ Jn}Gs]̂  97,500.00 0.00 97,500.00
7 7 sDjn ljt/)f ljkGg ju{nfO{ 97,500.00 0.00 97,500.00

8 8
bf ];Nnf / sDjn ljt/)f h]i&gful/s ?=60,000. / ckf+unfO{ ^f|\O{ ;fOsn ?= 
37,500. 97,500.00 0.00 97,500.00

9 9

s[i)ffdlt ljBfnodf *]:sj|]Gr 20 yfg,40,000. ckfusf] nflu 25,000. blnt 
dlxnfx?nfO{ cGt/s|[of uf]i&L  17,500. O[;nfldof db/;fdf *]:sj|]Gr vl/b 
15,000.

97,500.00 0.00 97,500.00

10 10 ;/;kmfO{ ;DjlGw tyf hgr]tgf d"ns sfo{s|d ug]{ 97,500.00 0.00 97,500.00
11 sDjn ljt/)f 97,500.00 0.00 97,500.00

12
blnt ?=15,000. d'l:nd?=15,000. hghftL ?=15,000. hghftL 15,000. ckfu 
15,000. lk%*fju{ 15,000. h]i&gful/s 15,000. ljkGg ju{ 7,500. 97,500.00 0.00 97,500.00

13 sDjn ljt/)f 97,500.00 0.00 97,500.00

1,267,500.00 0.00 1,267,500.00

of]hgf tyf sfo{qmdx?  g=kf=af6 hg;xeflutf s'n hDdf

k|fljlws pks/0f vl/b 16400.00 0.00 16400

pkef]stf,sd{{rf/L cled'lvs/0f tflnd 75,000.00 0.00 75000

; 'kl/j]If0f,cg'udg d"Nof+sg 50,000.00 0.00 50000
of]hgf lstfj tof/L 81,100.00 0.00 81100
Ogwg 100,000.00 0.00 100000
b}lgs e|d0f eQf tyf vfhf vr{ 50,000.00 0.00 50000

; "rgf tyf 6]G8/ k|sfzg 50,000.00 0.00 50000
422,500.00 0.00 422,500.00

qm=;+= jf8{ g+= j8f :t/Lo of]hgf  g=kf=af6 hg;xeflutf s'n hDd

1 1
/fhlszf]/ /fosf] vlnofg b]vL d';}nL hfg] jf^f ]df df^f ] k'g]{ sfd / jGxf ;*s 
b]vL rfkL ;Dd . 195,000.00 78,000.00 273,000.00
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2 2 s[i)frf }sdf s[i)fd+lGb/ lgdf{)f 195,000.00 78,000.00 273,000.00

3 3
cJb'n xlkmhsf] #/ b]vL blIf)f cJb'n /xdfgsf] #/ ;Dd klSsgfnf lgdf{)f .

195,000.00
78,000.00

273,000.00

4 4 blnt wd{zfnf cw'/f ]nfO{ k'/f ug]{,k|flj= ejg lgdf{)f 195,000.00 78,000.00 273,000.00
5 5 tflx/ x';}gsf] #/ glhs sne^{ lgdf{)f 195,000.00 78,000.00 273,000.00

6 6 *j/fdf ;fd'bflos ejg lgdf{)f 195,000.00 78,000.00 273,000.00

7 7
c;lkm{ ;fxsf] #/ b]vL vlnn ld+ofsf] k;n x'+b} gjflhzsf] #/ b]vL *j/f ;Ddsf] 
cw'/f ] kssL gfnfnfO{ k'/f ug]{ .

195,000.00
78,000.00 273,000.00

8 8 ;fj{hlgs zf}rfno lgdf{)f . 195,000.00 78,000.00 273,000.00

9 9 g]kfn ef/t nh b]vL k"j{ sdn ;xgLsf] #/ ;Dd u|]en ug]{ . 195,000.00 78,000.00 273,000.00

10 10 lemd glbdf t^jGwsf] Joj:yf / j[Iff/f ]k)f , /fdPsjfn /fosf] hUuf b]vL jfsL 
/x]sf ] cw'/f ] ;*snfO{ k'/f ug]{ .d'nL kf]v/Ldf cw'/f ] gfnf nfO{ k'g lgdf{)f ug]{ .

195,000.00 78,000.00 273,000.00

11 11
jf}wL b]jL pRr df=lj= b]vL blIf)f / klZrd hfg] jf^f ] dd{t ;Def/ df^f ] k'g]{ / 
u|]en ug]{ . 195,000.00 78,000.00 273,000.00

12 12 j*f g+ 12 sf] ;Dk')f { jf^f ] dWo] c fjZostf cg';f/ df^f ] k'/L u|]en ug]{ . 195,000.00 78,000.00 273,000.00
13 13 d]g /f]*df u|]en ug]{ . 195,000.00 78,000.00 273,000.00

2,535,000.00 1,014,000.00 3,549,000.00

j*f :t/Lo of ]hgf  g=kf=af6 hg;xeflutf s'n hDd

>L ;/:jtL k|f=lj=sf] rf}/sf] kf ]v/Lsf] l*ndf jf+;sf] a]/f nufO{ j[Iff/f ]k)f ug]{ . 130000.00 52000.00 182000.00
cg'&f ;fxsf] #/ b]vL emn' ;fxsf] #/ ;Dd gfnf lgdf{)f / xg'dfg dlGb/ k'g 
lgdf{)f  . 130000.00 52000.00 182000.00
gf;L kf]v/Lsf] l*n dd{t / dxhLb dd{t ug]{ . 130000.00 52000.00 182000.00
c f]d rf}sdf ltgs'g] kfs{ lgdf{)f . 130000.00 52000.00 182000.00
uf]l;of dxhLbsf] dd{t ug]{ 130000.00 52000.00 182000.00
/fhf dxhLb dd{t 130000.00 52000.00 182000.00
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*f]d^f ]n cw'/f ] wd{zfnf k'/f ug]{ / dxhLb dd{t ug]{ . 130000.00 52000.00 182000.00
;fj{hlgs zf}rfno lgdf{)f / ;/;kmfO{ . 130000.00 52000.00 182000.00
xg''dfg dlGb/ dd{t ?=65,000. / slj|:tfgsf] %hL (nfg ?=65,000. 130000.00 52000.00 182000.00
hg:jf:Yo sfof {no cuf*L sne^{ lgdf{)f , lhjL; rf}s b]vL /fdj/)f /fosf] #/ 
;Dd gfnf lgdf{)f 130000.00 52000.00 182000.00
slj:tfg,d& dlGb/ dd{t / j[Iff/f ]k)f 130000.00 52000.00 182000.00
ljZj zflGt c f>dsf] ejg nfO{ k'gM lgdf{)f dd{t ;Def/ 130000.00 52000.00 182000.00

d& dd{t ?= 50,000.,slj|:tfg dd{t ?=5,000. / eujtL dlGb/ dd{t 30,000. 130000.00 52000.00 182000.00
1690000.00 676000.00 2366000.00

gu/ :t/Lo of ]hgfx?  g=kf=af6 hg;xeflutf s'n hDd
gfnf ;/;kmfO{ ty srL gfnf vg] sfo{ 1000000.00 0.00 1000000.00

;?jf /f]u lgoGq)f  tyf c led'lvs/)f 500000.00 0.00 500000.00

ljljw 700000.00 0.00 700000.00

;*s u|}en ljlemg ;*sx? 11000000.00 0.00 11000000.00

dd{t 600000.00 0.00 600000.00

k|fs[lts  k|sf]k Joj:yfkg 200000.00 0.00 200000.00

utljut jif {sf ] af+sL e'StfgL 2000000.00 0.00 2000000.00

^[flkms Joj;yfkg vr{ 200000.00 0.00 200000.00

5 j^f sNe^{ lgdf{)f tyf dd{t lgdf{)f sfo{ 900000.00 0.00 900000.00

/f}lgof/ wd{zfnf b]lv l/+u /f]* ;Dd cw'/f ;*s (nfg ug}sf] nflu 500000.00 0.00 500000.00

afndlGb/df cgfy afnaflnsfnfO{ kf}li^s c fxf/ ljt/)f sfo{ 50000.00 0.00 50000.00

afndlGb/ b]lv pt/ /fhf x';}g sf] #/ ;Ddsf] (nfg 1000000.00 0.00 1000000.00

h]g]/]̂ / vl/b 600000.00 0.00 600000.00

cGtls|of cjnf]sg tyf Ifdtf ljsf; sfo{ 300000.00 0.00 300000.00

sfof{nosf] sDkfp)*df (nfg tyf dd{t ;+ef/ 500000.00 0.00 500000.00

g=kf= df sfo{/t kmf +̂  k|d'v / cGo 25 hgf sd{rf/Lx?sf]Ifdtf ljsf;sf] 
nfuL cwf/ e't  sDKo"̂ / tflnd lbg] / sDKo"̂ / vl/b 2 yfg 

200000.00 0.00 200000.00

o'l/gn lgdf{)f 150000.00 0.00 150000.00
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;n]; dlGb/ jf*{ g+=4 sDkfp)* jfn 200000.00 0.00 200000.00
g=kf=sfof{no /+u /f]ug tyf emfn (f]sf / kmlg{r/ dd{t tyf sfof{no 
Joj:yfkg

400000.00 0.00 400000.00

hDdf 21000000.00 0.00 21000000.00

s'n hDdf 71764098.29 7590000.00 79354098.29
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